PITT Qube RES-55241B-AAC-1

Copyright(c) KOSHIN Ltd. All Rights Reserved. 1 2025/01/16 16:58:41




PITT Qube

RES-55241 B-AAC-1

No. mE i RE - ME B EM wE
1 027808102  |REL-5524LB-4 &-5- 550W 24V |1 127,700
2 027083704  |REL-4024-1 % ¥h1' - HADC 1 30,200
_%270001 EE
3 027004308  |REL-RES 0-) AC7A 1 17,100
4 027001008  |[REL-4024-1 0-3-9+7b %JS o751 |1 18,200
5 027001204  |REL-4024 M2-11 " -84 SCM 1 7,600
6 027006202  |[REL-4024L M1.5X13%  v-%f 35/ SCM 1 7,700
7 027087401  |REL-RES-5524LB M2-44 %" +- 9)23?7087402: 1 12,000
8 027006302  |[REL-4024L M1.5-21 %' ¢- S45C 1 3,500
9 027001804  |REL-4024 M1.25-50 %" +- S45C 1 7,700
11 |027001303  |REL-4024 % ¥-h1" - %Y N hh-#6500 |1 1,100
12 |027075501  |REL-4024Z5&H w94 OYvy° 1 400
13 |027070101  |REL-4024Z53&H v)3 ZDC+CRivt |1 3,800
14 027069901  |REL-4024Z55&%vy7° ZDC+CRivt |1 1,500
15 [027076601 |[MREEEY BSM10 1 600
16 027804902 |[RE Z&E7— LMl 7—Ligle |1 6,500
17 889855009 [0OYy7" P9 NBR P9 NBR70° |1 200
18 (849805172 [FEWRT) >V IEY 4x22SUS |1 200
19 027006401 |REL-4024L 35.70 ¥ =#HR Sus 1 400
20 [854505006 | -h-3& No.2 x 3SUS |6 200
21 [027004702 |REL-4024 #EARIL b g/l 6x12SU |4 400
22 [927600018  [=-F A 7YYy NKI 17/20 )1 4,700
e
23 027123301 [F#I YV E&#HZ(6206Z2) %2%2 KMT |1 2,100(912706018E #itH

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/16 16:58:41




PITT Qube

RES-55241 B-AAC-1

No. mE & - HME B Eff iBE
24 027122801 EI Y EE#®(620322) 6203ZZ KMT |1 1,300[912706013E #:1tH
hES
25 027123001 [BI YV E#Z(600322) 6003ZZ KMT |1 1,300[911806013E #uttH
hES
26 027122701 [[EIVE#Z(620272) 620277 KMT |2 1,100[912706012E #uttH
hER
27 893755194  [# -l TC30458 |1 1,500
NBR
28 884205076 [|[EfT¥— 7x7x50 |1 1,000
29 027049201 [REL EfT%H— Tx7x14 |1 300
30 027049301 [Ef7+%— 5x5x35. |1 300
5
31 884209041 [EfT+— 5x5x20 |1 200
32 888327030 |[CHLE Xtk EA30SK |1 200
33 888327020 |[CHLE Xk A2 0SK |1 200
34 888305017 CHLE A& B 1 7SUS |2 200
35 854255008  [y-W7yyv ¢ 8 ¢ 8 5 200
36 734505081  |F"ATUERIL b (Oy9e- 1) M8x85SU |4 700
SCS
37 827405020 ["EF v b M20 1% 1 500
FSUS
38 [827405006 |[KAF v k M6 1 f&dh 4 200
SuUS
39 843805006 |/I\RES ¢ 6SUS X5 |4 200
AR
40 844405020 (U S/N\XES $20SUS |1 700
41 027094502 (X EESEHT V-3 SNB-0.4G- |1 16,100
24V 19° 3959F
42 734532042 [RAFRMRIL S M5x32SC [3 200
M
43 843822005 |[/\RES 843;805005: 3 200
AY]
44  |884009167 |[EfT¥— 5x5x8 @AM 300
45 888327014 |CHLE Xk 2 200

A1 4
SK

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/16 16:58:41




PITT Qube

RES-55241 B-AAC-1

No. mE & - HME B Eff iBE

46 703305124 |[+FERAFRNNRIELE M6x6 0SU |4 300
S Y-IW1Y

47 027072201 |REL-5524LB EHk7" V-4E1-M 0.75x2 1 2,200
300MM

48  |854255006  [-M7vy¥ ¢ 6 4 200

49 890155145  [OUvy° S145NBR |1 400

50 703305076 TENRGFRNRIESLE M4 x12SU |2 200
S

51 944500002 [ B TEAmER T CE-2%#hd |2 200

52 847905077 [7-nt°y 5x2 0SUS |1 400

53 027071702  |REL-5524LB 7" b-44n" - 1 2,700

54 027076404 |RES-5524B I BIA{K (H) ADC-12 1 31,500
0270073& A
i}

55 027052002  [RES-4024B 3 BIAR{F/Nw £ CR70T=3 |1 2,000

56 027076502  [HEARIL b M12x39 [4 1,100
SUS

57 027046501 |MAEREESY(C-20) Hif 1 3,800

58 [827405012 [~E+v k M121%&Hh |4 200
SUS

59 843805012 |\RES o 12SUS |4 200

60 027051102  |RES-4024B B4R BSW-330B-3 |1 23,000

61 027114901  [RE 2M9F7° b-In° w3y EPDME 1 400
T=1.0

62 027098402  [RED-2012H A vFhn - SUS304 1 700
T=2.0

63 754905002 |t+ERMAARARIL NOvIv-1K) M4x10 SUS [6 200

64 (024000904 [BL-2512N 4" 3uh PBT 1 300

65 027804401 |RES-5524LBEEI— K& 3IA 4x55s g x1 |1 6,100
300MM

66 027804501 |RES-5524LBEJREI1— K~ 3B 2x8s g x50 |1 9,700
00MM

67 708205049 |[tERMAFRMRY 3HELZR M5x2 0SU |3 200
S

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/16 16:58:41




PITT Qube

RES-55241 B-AAC-1

No. mE & - HME B Eff iBE

68 734505084  |F"ATATRIL b (OyIv- 1) M8x100SUS |1 700
CS

69 027011804  |RES-4024 7-MN -N° 94y N bh-#6500 |1 1,000

70 027094702  [RES-5524LB-AAC-1%%1R SuUsS 1 1,300

71 854305004 [Y—I Ty v— ¢ 4 /I\ESUS |6 300

72 027079701 |RES-5524LB 1-M 1" LA CR 2 300

73 027805002 |RE ZTEEEH 7—L8gb |1 11,900[13~20

74 027090701 [RES-4024 KK 7L — K SPCCT3.2 |1 2,100

75 027114601  |RE D-W4+y7° EPDMBE 1 1,600

00 027804601 [RES-5524LBEFEI— K4 3C 1x5.5s g x5 |1 700
OMM

00 944500008 [k B (I EiR R T 2 200

00 027077101 [(BREBEHEEZER)—7 TM B-5.5 237 |2 200

00 027106001  [RE#-#¥7"3Y B 2 2,100

00 027106201  [RE739A7°Uv4° 2 1,800

00 027106301  [RE7" 398" - A 2 5,400

00 027107501  |REL-5524LB 7v#17 1 36,300

00 027098701  |REL-5524LB 1y} 7" 34yh 1 0

00 027100901 |RE-55074 7% — (%) ADC 1 30,800
0270719& A
gg

00 027045901 [MR 4 Y- UFN -V 2 OR [1 OffE = : 1500¢g
5 41vyHAEPT

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/16 16:58:41




